Supplementary material for "Influence of the cross-link density on the rate of crystallization of
poly(e-caprolactone)”
Avrami model plots of conventional DSC data
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Equation y =a+b*x
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Equation y =a+b*x
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Equation y =a+b*x
1 Residual Sum of Squares ~ 0.01235
o’ Pearson's r 0.99977
. Adj. R-Square 0.99953
2-de Value  Standard Error
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Equation y =a+b*x
Residual Sum of Squares  0.00169
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Equation y=a+b*x
Residual Sum of Squares 5.17033E-4
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1 Equation y =a+ b*x
Residual Sum of Squares 2.84664E-4
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| Equation y=a+b*x
Residual Sum of Squares 0.001
-2 4 Pearson's r 0.99998
L ° Adj. R-Square 0.99996
Value  Standard Error
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i Equation y =a+b*x
Residual Sum of Squares 5.74994E-4
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°® Equation y =a+b*x
i ¢ Residual Sum of Squares ~ 0.00311
Pearson's r 0.99986
¢ Adj. R-Square 0.99971
-2 4 Value  Standard Error
Intercept  0.05523 0.00147
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Equation y =a+b*x
1 Residual Sum of Squares 9.00438E-4
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Value  Standard Error
Intercept 1.37975 0.00281
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-1 Residual Sum of Squares ~ 0.00254
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1 Value Standard Error
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